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Review :

A convergence thm : Letf be integrable on the circle·
m

supposef is differentiable at 40.
·

Then

SNf(Xo) -> f(xo) as NtH
.

The above result is based on the Riemann-Lebesque
lemma

.

Remark : Using the same proof, we can show that the above
um

result holds under the weaker assumption that

& is Lipschitz continuous at to , this is
,

=> M> 0 such that

#*) If (x) - f(x ) / < M . /x-xo) for all x + E 4 , π]
.







For NELT
, define

fi = E ↑ pinx ( = SNf(x)
os/n/ < N

FN(x) = E to
in

#m2 : " Ea constant M20 such that

1fN / - M for all NEN and xET,i

(2) I ENSOLI I logAT

Pf. We first prove (1)
.

Let us consider the Abel mean of f.

Arf(x) =I Pu(x - 3) f (3) by
,

where Pr(x) : = osTtr2 ,
0891

.







It follows that

1 fx(x)/- 4 + /Arf(x)
= 4 + / fll0

.

This prove (1)
.

Next we prove (2) ,
i . e. /ENCol > logN

Notice that

Fucol: E + inco
= -[1 + #+1 + Te

So

1 EN(os) = I E+ .. .+
·

I using - = [M
+

* dx
R

for all <0
= H <RT x
















